:mim Second Terminal Examination-2080
Class: - 10 F.M: 100

Subject: Optional mathematics Time: Jhrs
Group ‘A’ (5x(1+1)=10)
| \a},_})cl'nn: quadratic function.
b. What is the anthmetic mean between two number a and b?

2 a_Write the formula for the sum of first n natural number.

L. \’,V‘ri'l;c down lim o [ (x) mn sentences.
‘ X

~ —-n-a-
. a b : : o AL’ :
3 ztl/fwmnx ;-\——( ) What is the valuc of |A]? Write it.
c d

b. Write the namc of geometrical figurc formed when a cone 18
cut by a planc that s parallel 10 the basc or perpendicular to 1

1 AVrite the formula to find the angle between the pair of lines
ax- ~2hxy-by"=0.

b. Write the equation of circle touching Y-axis only.

5 4. What 1s the single transformation under R1.R21f R,{(0.0),81
followed by R2/(0.0), 99°]?

b. Write down the matnx associated with reflecton 1n X-axis’

Group ‘B’ (13 x 2=26)

6 a\.yﬂx)'—‘ 4x+2 and g(x)= 3x-4. Find fog(x).

b. If a polynomial x-kx2-13%+10 is divided by (x+2) . the
reminder is 4. Find the value of k.

7 a A Af[_zl 'H and B;[_[,1 ﬂ find the determinant of AB

| —_——
oapt Sy v
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a. Find the valie of k if 3x-4y+7=0 and kx-3y-5=0 are
" perpendicular to each other. |

b. Find thc equation of the circle having centre at (5,4) and o
touches Y-axis S

_ pind the obtuse angle between a pair of straight line
represented by an equation 3x2-Txy+2y*=0.

. 1 : .
) Q)Flhc Geometric mean of ;and x is 2. Find the value of x.

b_\lj}(rsm term of an AP is 19 and the &M term is 31. which term
K677

| The vertice of a AABC are A(1.3) B(2,2) and C(f, ). Find the
image of AABC under a rotation through +90°. { ~y X /)
b. If A'(1.4) and B'(3,8) are respective image of A(1.2) and
B(3.4) after translation by 2-2 matnx (c: g) Find 2>2
mairix. https://www.nebstudy.com

i1 a M 'the quartile deviation of frequency distribution is 14 and the
lowet quartile is 35, find the third quartile.

,t)n/ '\ continuous scries N=25 Tfm— 50 and ¥ fm?—130 then find
the standard deviation and its co-efficicnt

Group ‘C’ (11 x 4= 44)

12. 1f f(x)= 3x-7 and g(X)- x—? and g x)~ f(x). Find the value of

li/boive: x}-4x2-7x+ 100
14. Optimize: P = 3x~2y under the following constraints 2x-y<! .
x+2y<3 and x20 ,y= 0.

o x?-1
15, If fix)=——, then
| x—1
i) PFad the value of Rx) at x- 0.9.0.99.1.01, 1.001.
ii) Is function X} continuous at X= 17 Give reason.
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' 3_. ..(14.1..-:1
Od:';'*-"'—]’x 4

@/Sglve by Matrix meth y y .
17 at is the single equation of the strgtght line through the
- oﬁgh‘i’ﬂ’and pcrpr:ndicular o the lincs represented by
x>-5xy+dy= 0
hose centre is at the point of

% Fingthc equation of a circle w : | |
et -x=23 and passing the point (4.6),

Mitersection of 2x+y=4 amnd 2y
1 ransformation matnx which transforms a unst

IW the 2» s Y,
0 3 :
square (g (1] ll 1) into parallelogram (0 12 1

20 Figdthe inversion point of the point (4,5) of a circle whose
center 1s (2.3) and radius 1s 4 units.
'_:I//(alculate the mcan deviation from median and s co-efficient.

20-30 _ 30-40 | 40-50
6 | 3 4 i

O [ 0100 10-20

|. ] ______3‘_ J 2

_‘-_.E/P{nd the standard deviation and Co-efficient of standard
deviaton of followmg data:

| Marks obtamed | 0-10__10-20 | 20-30 | 30-40 © 40-50 |
| No. of students | 3 3 12 6 , 4 t

A ———

Group ‘D’ (4 x 5= 20)

33\)[?4:: function fix) x%-2x, g(x)- 2x 3 and fog"'(x)-3. Find the
aluc of X.

E-J.J‘Ll}vmm of the Iirst 20 teirms of an AP 1s 3050 and the sum of

Aic first 40 terms is 4100. Find the first three tenns of the AP,

ZSJiﬂd the cquation of straight line with passes through (2,3) and
“are inclined at 45° to the straight line 2x+ 3y—2 My

3(’-\1}(‘-’“'“&5 of AABC arc A(2,3). B(1.1), C(3.1). Find the co-
rdinates of 1image of AABC under the rotation through +90
about origin, then enlarge the image so obtained by taking the
scalar factar 2 and centre as origin and show all triangles in
saine graph.
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